
1. c) Aºehb¬

2. d) _mWmkpc kmK¿

3. b) IrjvWKncn {In°‰v kvt‰Unbw

4. c) Nq≠¬

5. d) Aºehb¬

6. b) S¿t_e AWs°´v

7. c) te

8. a)Abq_vJm≥

9. d) sUkn_¬

10.       1
 b)

 10  sec

11. a)kq∏¿ tkmWnIv

12. c) 17 meter

13. d) Unet\mbv

14. a) amthen°c k‘n

15. c) tUm. sI.kn. Fkv. aWnem¬

16.  b) akqen]´Ww

17.  b) IpØ_v±o≥ sF_°v

18. c) _m¬_¨

19. c) kp¬Øm\m dknb

20. c) IBLLOIN

21. c) OFUMPN

22. a) 55

23. b) 41285412931

24. d) bleep

25. b) horse : brays

26. b) Hiss

27. a) Brays

28. c) \¬ + a

29.  d) a\x + km£n

30.  b) AXn + A¥w

ANSWER KEY, TOPICWISE - 9

MATHS  EXPLANATION

23. b) 41285412931

A = 1, B = 2, ...., H = 8, I = 9, J = 10 ( 1+0 = 1),

   M = 13 ( 1+3)

       A£-c-ßfpsS ÿm\-hn-e-bpsS A°-ß-fpsS
XpI M = 13 (1+3 =4)

20. c) IBLLOIN

  A£-c-ßsf tPmUn-bm°n ]c-kv]cw
  am‰n-bn-cn-°p-∂p. BI - IB, IO - OI

         BILLION - IBLLOIN

22.a) 55

           Garden = 7 + 1 + 18 + 4 + 5 + 14 - 10 = 39

          Warden  = 23 + 1 + 18 + 4 + 5 + 14 -10 = 55

21. c) OFUMPN

 -       hm°ns\ Xncn-s®-gpXn  Hmtcm A£-c-
    tØmSpw H∂v Iq´p-∂p.

        MOLTEN  = N  E  T  L  O  M

                                   +1 .................... ..

                                        =  O  F  U  M  P  N


